	RFP RESULTS	
	19-08 CAFÉ SERVICES FOR 4TH FLOOR CAFETARIA OPOSAL OPENING DATE: NOVEMBER 13,2019	
NUMBER OF RESPONDENTS	2	
NAME OF BIDDER	RISE& GO CATERING	CAFÉ DU PAIN BAKERY, LLC
ADDRESS	101 SCALES PLAZA	2495 BRUNSWICK PIKE UNIT 12
CITY, STATE, ZIP	CLIFTON, NJ 07013	LAWRENCEVILLE, NJ 08648
CONTACT	CHRISTOPHER CONOSCIENTI	JUDITH REGISTRE/MARIE ONYEANI
TELEPHONE	201-957-5727	609-323-7555
Website or e-mail	RISEANDGO@GMAIL.COM	JUDITHE@CAFEDUPAINBAKERY,COM
ADDENDUM NO ONE	SIGNED AND DATED	SIGNED AND DATED
INSURANCE AND INDEMNIFICATIONS REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED
BUSINESS REGISTRATION	OK	OK
EIC	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EXHIBIT A	REQUIRED IF AWARDED	INCLUDED
STATEMENT OF OWNERSHIP DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED
non-collusion affidavit	SIGNED AND DATED	SIGNED AND DATED
HOLD PRICING BEYOND 60 DAYS	YES	YES
REFERENCES	INCLUDED	INCLUDED
SERVSAFE CERTIFCATE	INCLUDED	INCLUDED
SAMPLE MENU	INCLUDED	INCLUDED
QUALIFICATION STATEMENT	INCLUDED	INCLUDED
EXCEPTIONS	NONE	NONE
FATAL FLAW	NO	NO

	BID RESULTS	
AB2019-43B REBID OF MEI	RCER MEADOWS UPLAND TRAIL IMPROVEN	MENTS AT VARIOUS LOCATIONS
	BID OPENING DATE: NOVEMBER 14,20	19
BIDS RECEIVED	2	
NAME OF BIDDER	MOUNT CONSTRUCTION CO.INC.	IEW CONSTRUCTION GROUP INC.
ADDRESS	427 S. WHITE HORSE PIKE	75 SCULPTORS WAY
CITY, STATE, ZIP	BERLIN, NJ 08009	HAMILTON, NJ 08619
CONTACT	MICHAEL MAZZERELLA	HARRY W. COLEMAN JR
TELEPHONE	856 768 8493	609 586 5005
FAX	856 753 1453	609 586 0356
E-MAIL	MMAZZARELLA@MOUNTCONSTRUCTION. <u>COM</u>	H.COLEMAN@IEWCOMSTRUCTION.COM
ADDENDUM NO ONE	SIGNED AND DATED	SIGNED AND DATED
ADDENDUM NO TWO	SIGNED AND DATED	SIGNED AND DATED
BID BOND	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	R.H SHEPHERD, JR. AIF WITH POA	JOHN P. SEDOR, AIF WITH POA
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED
PREVAILING WAGE CERTIFICATION	OK	OK
STATEMENT OF OWNERSHIP DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED
AA201 FORM	REQUIRED IF AWARDED	REQUIRED IF AWARDED
PW CONTRACTOR REG.	605531 EXPIRES 6.5.20	605640 EXPIRES 5.08.20
NEW JERSEY BUSINESS REGISTRATION	OK	OK
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED
THREE REFERENCES	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW
HOLD PRICING BEYOND 60 DAYS	YES	YES
TOTAL BID AMOUNT	\$ 1,895,093.20	\$ 2,948,502.80
EXCEPTIONS	NONE	NONE
FATAL FLAW	NO	NO

AB2	019-43B REBID OF MERCER MEADOWS UPLAND PROPOSAL	TRAIL IMPR	OVEMENTS		MOUNT CO	NST	RUCTION	IEW CONSTRUCTION					
Item No.	Description	Quantity	antity Unit UNIT COST TOTAL COST UNIT COST TOTAL								OTAL COST		
2	FURNISH, INSTALL MAINTAIN AND REMOVE STABILZED CONSTRUCTION ENTRANCE	1284	SY	\$	20.05	\$	25,744.20	\$	57.00	\$	73,188.00		
3	FURNISH, INSTALL MAINTAIN AND REMOVE SILT FENCING	8790	LF	\$	5.00	\$	43,950.00	\$	8.00	\$	70,320.00		
4	FURNISH, INSTALL MAINTAIN AND REMOVE STOCKPILING	2082	CY	\$	30.00	\$	62,460.00	\$	99.00	\$	206,118.0		
5	FURNISH, INSTALL AND MAINTAIN REMOVE INLET FILTER PROTECTION	1	EA	\$	350.00	\$	350.00	\$	536.00	\$	536.0		
6	FURNISH, INSTALL AND REMOVE HAYBALES	324	LF	\$	15.00	\$	4,860.00	\$	16.00	\$	5,184.0		
7	FURNISH INSTALL MAINTAIN AND REMOVE	1	LS	\$	7,500.00	\$	7,500.00	\$	4,922.00	\$	4,922.0		
8	FLOATING TURBIDITY BARRIER FURNISH INSTALL MAINTAIN AND REMOVE	1	LS	\$	25,000.00	\$	25,000.00	\$	51,750.00	\$	51,750.0		
9	STREAM DIVERSION FURNISH, INSTALL, MAINTAIN EROSION CONTROL	1308	SY	\$	5.00	\$	6,540.00	s	11.00	\$	14,388.0		
10	MATTING FURNISH AND INSTALL RIP RAP	170	CY	\$	150.00	\$	25,500.00	\$	1,529.00	\$	259,930.0		
11	FURNISH AND INSTALL SCOUR HOLES	21	CY	\$	1,000.00	\$	21,000.00	s	1,324.00	\$	27,804.0		
12	TOPSOIL STRIPPING	2093	CY	\$	15.00	\$	31,395.00	\$	24.00	\$	50,232.0		
13	FURNISH AND INSTALL PLUGS, COMPLETE	1318	SY	\$	10.00	\$	13,180.00	\$	36.00	\$	47,448.0		
14	FURNISH AND INSTALL SEEDING COMPLETE	120	MSF		300.00	Ė	36,000.00	Ė					
	FURNISH AND INSTALL SEEDING COMPLETE FURNISH AND INSTALL MEADOW VEGETATION,			\$		\$		\$	712.00	\$	85,440.0		
15	COMPLETE FURNISH AND INSTALL CONCRETE (4" THICK)	9.8	MSF	\$	450.00	\$	4,410.00	\$	731.00	\$	7,163.8		
16	COMPLETE FURNISH AND INSTALL PRE CAST B INLET	168	SY	\$	150.00	\$	25,200.00	\$	119.00	\$	19,992.0		
17	COMPLETE	1	EA	\$	5,000.00	\$	5,000.00	\$	6,906.00	\$	6,906.0		
18	FURNISH AND INSTALL 24" HEADWALL COMPLETE	2	LF	\$	5,000.00	\$	10,000.00	\$	6,650.00	\$	13,300.0		
19	FURNISH AND INSTALL 24" RCP PIPE COMPLETE	12	LF	\$	150.00	\$	1,800.00	\$	122.00	\$	1,464.0		
20	FURNISH AND INSTALL 20" HEADWALL COMPLETE	2	EA	\$	5,000.00	\$	10,000.00	\$	6,650.00	\$	13,300.0		
21	FURNISH AND INSTALL 20" RCP PIPE COMPLETE	12	LF	\$	150.00	\$	1,800.00	\$	116.00	\$	1,392.0		
22	FURNISH AND INSTALL 18" HEADWALL COMPLETE	4	EA	\$	4,500.00	\$	18,000.00	\$	6,650.00	\$	26,600.0		
23	FURNISH AND INSTALL 18" RCP PIPE COMPLETE	20	LF	\$	150.00	\$	3,000.00	\$	120.00	\$	2,400.0		
24	FURNISH AND INSTALL 15" HEADWALL COMPLETE	2	EA	\$	3,000.00	\$	6,000.00	\$	6,650.00	\$	13,300.0		
25	FURNISH AND INSTALL 15" RCP PIPE COMPLETE	10	LF	\$	120.00	\$	1,200.00	\$	118.00	\$	1,180.		
26	FURNISH AND INSTALL 12" HEADWALL COMPLETE	35	EA	\$	120.00	\$	4,200.00	\$	6,646.00	\$	232,610.		
27	FURNISH AND INSTALL 12" RCP PIPE COMPLETE	76	LF	\$	120.00	\$	9,120.00	\$	119.00	\$	9,044.		
28	FURNISH AND INSTALL 10" RCP PIPE COMPLETE	20	LF	\$	120.00	\$	2,400.00	\$	99.00	\$	1,980.		
29	FURNISH AND INSTALL 10" HDPE DRAINAGE PIPE COMPLETE	110	LF	\$	120.00	\$	13,200.00	\$	110.00	\$	12,100.		
30	FURNISH AND INSTALL 8" HDPE DRAINAGE PIPE COMPLETE	24	LF	\$	100.00	\$	2,400.00	\$	91.00	\$	2,184.		
31	FURNISH AND INSTALL 10" DUCTILE IRON PIPE, COMPLETE	50	LF	\$	150.00	\$	7,500.00	\$	132.00	\$	6,600.0		
32	MILLING OF PAVEMENT (2" THICK) COMPLETE	6503	SY	\$	5.00	\$	32,515.00	\$	7.00	\$	45,521.		
33	HOT MIX ASPHALT 9.5 M64 SURFACE COURSE (1 1/2 THICK) COMPLETE	180	TON	\$	200.00	\$	36,000.00	\$	217.00	\$	39,060.0		
34	HOT MIX ASPHALT 19M64 BASE COURSE (2 1/2 THICK) COMPLETE	300	TON	\$	200.00	\$	60,000.00	\$	203.00	\$	60,900.0		
35	HOT MIX ASPHALT 9.5 M64 SURFACE COURSE (2 THICK) COMPLETE	1101	TON	\$	120.00	\$	132,120.00	\$	135.00	\$	148,635.0		
36	HOT MIX ASPHALT 19M64 BASE COURSE (3 THICK) COMPLETE	484	TON	\$	120.00	\$	58,080.00	\$	169.00	\$	81,796.0		
37	DENSE GRADED AGGREGATE BASE COURSE 4" THICK) COMPLETE	5178	SY	\$	15.00	\$	77,670.00	\$	8.00	\$	41,424.0		
38	FULL DEPTH ASPHALT PAVEMENT REMOVAL	263	SY	\$	40.00	\$	10,520.00	\$	67.00	\$	17,621.0		
39	3" NJDOT #10 STONE, COMPLETE	26413	SF	\$	3.00	\$	79,239.00	\$	1.00	\$	26,413.0		
40	GEOTEXTILE FABRIC, COMPLETE	2935	SY	\$	4.00	\$	11,740.00	\$	19.00	\$	55,765.0		
41	PAINT TRAFFIC SYMBOLS AND 4" STRIPING	1	LS	\$	5,000.00	\$	5,000.00	\$	20,302.00	\$	20,302.0		
42	COMPLETE FURNISH AND INSTALL PARKING SIGNS,	5	EA	\$	150.00	\$	750.00	\$	1,000.00	\$	5,000.0		
43	COMPLETE FURNISH AND INSTALL TIMBER WHEELSTOPS,	18	EA	\$	75.00	\$	1,350.00	\$	560.00	\$	10,080.0		
44	COMPLETE FURNISH AND INSTALL CONCRETE BOLLARDS,	4	EA	\$	1,000.00	\$	4,000.00	\$	2,100.00	\$	8,400.0		
45	COMPLETE FILL DEPTH GRAVEL TRAIL PEMOVAL	5305	LF	\$	10.00	\$	53,050.00	\$	30.00				
	FULL DEPTH GRAVEL TRAIL REMOVAL			-							159,150.0		
46	FURNISH AND INSTALL 180" PREDESTRAIN BRIDGE	1	LS	\$	500,000.00	\$	500,000.00	\$	524,000.00	\$	524,000.0		
47	FURNISH AND INSTALL 3-SIDED CULVERT	1	LS	\$	201,000.00	\$	201,000.00	\$	129,000.00	\$	129,000.		
48	REMOVE EXISTING CONRETE PIPE CULVERT	1	LS	\$	50,000.00	\$	50,000.00	\$	27,200.00	\$	27,200.		
49	GUIDERAIL RELOCATION	95	LF	\$	100.00	\$	9,500.00	\$	20.00	\$	1,900.		
50	GRADING	22025	SY	\$	6.00	\$	132,150.00	\$	12.00	\$	264,300.0		
51	FURNISH , INSTALL, MAINTAIN AND REMOVE TREE ROTECTION FENCING	780	LF	\$	15.00	\$	11,700.00	\$	17.00	\$	13,260.0		

BID RESULTS

CKOPMERCER2019-29 GOLF COURSE AND PARK MAINTENANCE MAIERIALS FOR THE MERCER COUNTY PARK COMMISSION AND SEWAGE TREATMENT CHEMICALS FOR THE MERCER COUNTY CORRECTION CENTER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM FOR A PERIOD OF ONE (1) YEAR

			NOVEMBER 14.2019			
NUMBER OF BIDDERS	11					
BIDDERS	LEVITT'SS LLC	SYNATEK	REED PERRINE SALES INC.	MAIN POOL AND CHEMICAL COMPANY INC.	FISHER + SON COMPANY INC.	HELENA AGRI-ENTERPRISES, LLC. NORTHEAST SPECIALTY WAREHOUSE
ADDRESS	621 EDWARDS ROAD	737 HAGEY CENTER DR UNIT A	P.O BOX 100 MAIN STREET	110 COMMERCE ROAD	110 SUMMIT DRIVE	4 KILLDEER COURT SUITE 100
CITY, STATE, ZIP	PARSIPPANY, NJ 04054	SOUDERTON, PA 18964	TENNENT, NJ 07763	DUPONT, PA 18641	EXTON, PA 19341	SWEDESBORO, NJ 08085
CONTACT	BARRY LEVITT	RACHEL MURPHY	ROBERT BULKONSKI	THOMAS O'MALLEY	ROBERT JOHNSON	NICK ADAMS
TELEPHONE	973.227.0552	267.203.1620	732.446.6363	570.655.7211	800.262.2127	856.241.2070
FAX	973.227.3174	267.203.1613	732.446.1344	570.655.7488	610.363.0563	856.241.2086
EMAIL	BARRY@LEVITTSLLC.COM	MGRUBMAN@SYNATEKSOLUTIONS.COM	BOBB@REEDANDPERRINE.COM	SANDY@MAINPOOLCHEMICAL.COM	BIDS@FISHERANDSON.COM	ADAMSN@HELENAGRI.COM
EXTEND TO COOP	YES	YES	YES	YES	YES	YES
CERTIFICATION TO HOLD SIXTY DAYS	YES	YEŞ	YES	YES	YES	YES
CONTINUITY OF SERVICE DURING EMERGENCIES	YES	YES	YES	YES	DID NOT CHECK YES OR NO	YES
NJ BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK
STATEMENT OF OWNERSHIP	OK	OK	OK	OK	OK	OK
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EIC	42457 EXPIRES 8.15.22	36716 EXPIRES 4.15.26	8058 EXPIRES 5.15.26	32670 EXPIRES 7.15.23	14339 EXPIRES 5.15.21	11885 EXPIRES 8/15/20
EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	OK
IRAN CERTIFICATION	OK	OK	OK	OK	OK	OK
INSURANCE INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
CERTIFICATE OF INSURANCE	INCLUDED	INCLUDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	SIGNED AND DATED
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	REQUIRED IF AWARDED
EXCEPTIONS	NONE	NONE	NONE	NONE	SEE EXCEPTIONS PAGE	NONE
FATAL FLAW	NO	NO	NO	NO	NO	NO
RESPONDENT	SEETON TURF WAREHOUSE, LLC	GRASS ROOTS TURF PRODUCTS, INC.	NUTRIEN AG SOLUTIONS INC.	PLANT FOOD COMPANY INC.	ALL UNIQUE GIFTS T/A TURF TRADE	
ADDRESS	25 ROLAND AVENUE	4 MIDDLEBURY BLVD SUITE 7	1470 JERSEY AVE	38 HIGHTSTOWN- CRANBURY STATION RD	517 FRANKLINVILLE ROAD	
CITY, STATE, ZIP	MOUNT LAUREL, NJ 08054	RANDOLPH, NJ 07869	NORTH BRUNSWICK, NJ 08902	CRANBURY, NJ 08512	MULLICA HILL, NJ 08062	
CONTACT	LANDON T. SEETON	KEITH E. KUBIK	THOMAS HUGHES	THEODORE T. PLATZ	KATHY CONARD	
TELEPHONE	856.273.5939	973 252 6634	732 735 5092	609 448 0935	609.477.0471	
FAX	856.273.0998	973 252 6630	888 883 3070	609 443 8038		
EMAIL	BILLC@SEETONTURF.COM	KEITH.KUBIK@GRITURF.COM	TOM.HUGHES@NUTRIEN.COM	SBEREZANSKY@PLANTFOODCO.COM	KATHYC@THETURFTRADE.COM	
EXTEND TO COOP	YES	YES	YES	YES	YES	
CERTIFICATION TO HOLD SIXTY DAYS	YES	YES	YES	YES	YES	
CONTINUITY OF SERVICE DURING EMERGENCIES	YES	YES	YES	YES	YES	
NJ BUSINESS REGISTRATION	OK	OK	OK	OK	REQUIRED IF AWARDED	
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK	
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
50						-

38168 EXPIRES 01.15.21

INCLUDED

SIGNED AND DATED

REQUIRED IF AWARDED

SIGNED AND DATED

YES, PC TO REVIEW

NO

28913 EXPIRES 08.15.21

INCLUDED

SIGNED AND DATED

INCLUDED

SIGNED AND DATED

NONE

NO

INCLUDED

OK

SIGNED AND DATED REQUIRED IF AWARDED

SIGNED AND DATED

NONE

32194 EXPIRES 04.15.23

INCLUDED

INCLUDED

SIGNED AND DATED

YES, PC TO REVIEW

NO

EIC EXHIBIT A

EXCEPTIONS

FATAL FLAW

IRAN CERTIFICATION

INSURANCE INDEMNIFICATION

CERTIFICATE OF INSURANCE

EXECUTIVE ORDER 98-1

11885 EXPIRES 08.15.20

INCLUDED

SIGNED AND DATED

REQUIRED IF AWARDED

SIGNED AND DATED

NONE

| THE REAL PROPERTY AND ADDRESS OF THE PERSON NAMED IN COLUMN NA | DESCRIPTION STREET, ST | PRODUCT AN ENGINEER PARTY AND ADDRESS OF THE PARTY ADDRESS OF THE PARTY AND ADDRESS OF THE PARTY ADDRESS OF THE | F POINT ON THE PARTY OF THE PAR | Mar 1000
Maria
1700
Maria
Maria | THE RESERVE AND THE PERSON OF T | = | PARTICIPATION OF THE PARTICIPA | PARTIES AND PARTIE | | PRODUCTION OF THE PROPERTY OF | PROPERTY AND ADDRESS OF THE PARTY AND ADDRESS | MARKET AND THE PERSON NAMED IN COLUMN 1 | MARKET LINE COMMANDE COMMAND COMMANDE COMMANDE COMMANDE COMMANDE COMMANDE COMMANDE COMMANDE C | PRINCE AND SAME OF | - | TOTAL CONTRACT OF THE PARTY OF | DESCRIPTION AND ADDRESS OF THE PERSON ADDRESS OF THE PERSON AND ADDRESS OF THE PERSON AND ADDRESS OF THE PERSON AD | TOTAL DESIGNATION OF THE PARTY | TOURSESS OF THE PARTY OF T | UNIT COLUMN
UNIT C | PRODUCT AND STORY AND STORY AND STORY PRODUCT OF STORY PRODUCT OF STORY AND | PARTIES PARTIES OF THE PARTIES OF TH | PARTY OF THE PARTY OF T | UNITED THE PROPERTY OF THE PARTY OF THE PART | AN | AMERICAN DE COMPTE PERSONNE | WAS COME AND THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS | F WHITE AN TAXABLE PROPERTY. | MINISTRALIA PROFESSIONA | DESCRIPTION OF THE PROPERTY OF | CONTRACTOR OF THE CONTRACTOR O | F STREET, AN ADDRESS TO THE PARTY OF T | NAME OF SOURCE O | OFFICE SAME AND ADDRESS OF THE PARTY NAME AND ADDRESS OF THE PARTY | STATE OF STA | PRINCE OF THE PRINCE OF T |
|--|--|--|--|---
---	---	--	--	--------------	---
--	---	---	--	---	
--	--	--	--	-----------------------------	--
--	--	--	--		
--	--	--	---		
NAMES OF THE PARTY OF THE PARTY OF THE PARTY OF	514545 MERE	-		****	- man
 | | | 1072 00000000000 | THE LAND CO. | | MAT 7003 AND 01980 | | 1 000
 | Part 100 000 | POST AND | | | THE ALL DESCRIPTION OF | |
 | 1830 MF 6 | ********* | | Albania Par | ATTER BUILDING |
97 | | Aut Street | and the same of th | | | AN ADDRESS AND ADD | | 5 14.01 19
 | | |
| * Interior Philippin William | 514545 96 88 | | | *** |
 | | *** | - | | - | | | 1 100
 | CAL PROPERTY. | | | *** | | | 500.00
 | | | | SAN MANINTE | API ISA | | |
 | | | | | |
 | | 5 91.00 | A40/85 | |
| 8 Marionarios | 10. Mari | | _ | **** |
 | | | | _ | - | | |
 | | | | | | _ |
 | | | | 100.000 | to the same of the | | 1 (20)
 | | | | *** | |
 | | unitation | _ |
| State Company of the Company of the Company State Company of the Company | 10. MERE | | | *** |
 | | - | 100 | | | | | 20.00
 | | | | *** | | | |
 | | | | NO 80 | |
 | 1 700 | STATE STREET, PARKET AND ADDRESS. | OPEN MICH SHILL SHILL | 3 000 | |
 | | | | _ |
| * materials | 50400 MIN | | | |
 | | | 100 00000000 | | | | |
 | MANUFACTURE OF THE PARTY OF THE | | | | | | |
 | | | 91/2 (\$400.70) | name. | |
 | | | | | |
 | | | - |
| * Transpare | AUDITOR S POST | PROPERTY OF | _ | *** |
 | | | | _ | | | |
 | 10000 | PERMIT | 1 10.0 | | 20.100 | |
 | | | | Production of | man property |
na san | | | | | |
 | _ | ~ | PLINAR MANAGES | 8 700 |
| * Auton | Acques à caco | National Street | | SUMM |
 | | | | | - | | | 1 1000
 | | | | \$ 1,607,66 | | |
 | PURCE | WINDOW | \$1,000 | WARRED TO STATE OF | NAME OF TAXABLE PARTY. |
 | *** | | | | 19600 |
 | | 9,858 | - | |
| * sometime | Antique 5 section | Challenters No. | | 5 205.00 |
 | | | | | | | | \$ 10000
\$ 10000
 | F1/90 | | | 5 101.05 | | | B-07-W
 | | | | BANCO PROMINE A
WALTER
WATER STORY (CO.) | oran. |
 | | | | | |
 | | \$100.00
\$1.000.00 | | _ |
| * serger | 10 Table 10 MB | | | STREET |
 | | - | | _ | - | | | 1 1000
 | | + + | | 5 1975.00 | _ | + | 919.0
 | | | | 9.750 AND | | | |
 | | | | | 27000 |
 | _ | \$6.900.00 | | _ |
| in out there | ALA 1 TOU ME BE | | | |
 | | | - | | | | |
 | ana | | | 5 400 0000 | in her | |
 | | | | SAM MARKET | - Page |
 | | | | | |
 | | 944 (81 | Section Property Control | |
| - American | angere
an mon | Brown State of the | 1 25.0 | 20.00 | | |
 | Market Market Market | • | | | | 1 000 |
 | | | 5 90.00 | _ | N 1969 | |
 | | | Special projects | ener . | . 100 |
 | | | | | | _
 | SALE NAME AND ADDRESS OF THE PARTY N | place Philip | |
| * Inspire | Arthrone 5 run | 00090000 | | *** |
 | | 100 | | + | | | | 1 100
 | | | | 5 2011 | 100.00 | |
 | | | | | |
_ | | | | | 20.00 |
 | | \$80.00 | | = |
| * parine | Acceptance Name of Street | 1 | + | 5 780 |
 | | 801 | | + | | | | 5 7600
5 7600
 | | + | - | 5 00.00 | | + | 1 70.0
 | | - | | State matrices | of sale |
+ | | | | + | |
 | + | \$50.00 | | +- |
| * tue | 21 To Table 100 Miles | NO. 0 | | *** |
 | | | ** | = | - | | | 1 200
 | | | | 5 81.00 | | | 90.0
 | | | | 20.00 Mag | |
 | | | | | 20.00
MI NO |
 | | \$85.00 | | |
| # Opening | APRILITY MESS | ADD B | | 51 1000
5 1000 |
 | | | | _ | | | | 1 200
 | 1 | _ | | 5 000.00 | _ | _ | 1 100.00
 | | | | 1 common margin | - |
_ | | | | | 200.0 |
 | _ | 5 100.00 | - | + |
| * | April 10 ag | | | KURSK |
 | | 1 1000 800 | | _ | | | | 1 100
 | _ | | _ | 5 75.00 | | A 10150 | 1 171.0
 | | | | STATE AND ADDRESS OF | |
 | | | | | 100 |
 | | \$75.00
\$1.00.00 | | 200 |
| · · | Acquire Man | | | *** |
 | | - | | | - | | | 1 100
 | _ | | | 5 NO. 10 | ounts | | 1
 | stance | | | STATE PRODUCT | - |
 | 20.00 | | | | |
 | | 91.0 | no mo | _ |
| A source | Andreas & Marie | This said | | *** |
 | I | 501 | - | | | | | 1 700
 | | | | 1 500 | | |
 | | | | Second Second | |
 | | | | | |
 | | \$5.00
\$86.00 \$100 | | _ |
| * oners | AND STATE | Name of the last o | | | | | -
 | | _ | | | | 1 000 | OWNERS
 | | | 1 000 | | | 5000 |
 | | | SOUTH SERVICE | mar Mills | |
 | | | | | |
 | | | |
| # | 1000 | | _ | **** |
 | | | Ī | | | | | _ =
 | | | | A 200 CHICA | CHECKAN | |
 | | | | | _ |
 | - | | | | |
 | | | | _ |
| A prefragment | Arthur Man | | | 50.00 |
 | | No. | | | | | | 10 10
 | | | | | | |
 | | | | | |
 | 1 100 | | | | *** |
 | | | | _ |
| * some | STATES NO. 10. | | | *** |
 | | 861 | | | - | | | 1 10
 | | | | *** | | |
 | | | | | |
 | | | | | 20.00 |
 | | 5 6/10 700 | A POSTON | |
| · manaria | Mary Market | | | |
 | | | | | | | | ***
 | | | | *** | | | |
 | | | | *** | |
 | | | | | 6500 |
 | | | | |
| A MARKAGANA SANA | Managa Managa
Managarana Managa | | | **** |
 | | | | | | | |
 | | | | *** | | |
 | | | | Sant Assertan | MARIN. |
 | 1 700 | | | 5 2000 M | 0.00 |
 | | 1 200 | wa. | _ |
| T or | Attaches Market | | | SANSON | Management of the last of the | | NATIONAL MAN
 | | _ | | - | | 1 7000 | _
 | | | | _ | | |
 | | | | | _ |
 | | | | | |
 | | of History | |
| A contract of the contract of | 10 M M | | | 5 100.00 | | | 200
 | | | | | | 10.00 |
 | | | A1 80 | | | |
 | | | | | | A 1900
 | | | 9 MARIE 80 | | | | |
 | - | WATER STATES | 1 200 |
| # aug Mm | STATES NO. 100 | | | *** |
 | | | Later Selection and | na . | | | |
 | 00.005.00 | | | *** | _ | |
 | | | | | |
 | 8 10.0 | ALCOHOLOGICA (16) | MARKS. | 5 15.70 MG | |
 | | 97.00 (80 | AND SAFE | + |
| * GLOSSINGS SER | Arrigan Mark | | | *** |
 | | 100 | | | | | |
 | 0.140500 | | | *** | | |
 | | | | | |
 | 547 | 4 | | Section 80 | |
 | | S 40.00 000 | 0014419 | |
| * Proposition III | in in a particular and the same | | | *** |
 | | *** | | | | | |
 | name with the last | | | 5 70.00 | area a | |
 | | | | | **** |
 | 6 take | | | s una s | 14600 | and Period
 | | 5 TLM PAGE | PARTICIAL INC. | |
| A September 100-100 | 818465
818465 | APARTO NO. | man 1 746 | 51 MI |
 | | | prot process | | | | | 1 70
 | POPERAGE STATE | | _ | 5 676 | _ | _ | 1 74.0
 | | | | 5 8.00 WHATE | eriore
Eriore |
 | | | | | *** |
 | _ | 5 44.00 | | |
| 4 Security Sections and | PERSON NAMED | | | 40.00 |
 | | | | | | | | 1 1000
 | PER CANADA | \perp | | 6 107.75 | | |
 | noted strategy. | | | S 1819 Married | and . |
 | | | | | *** |
 | | 40.60 | | + |
| * Newtonia introducer | 514505 MERE | Personal State | _ | **** |
 | - | | | _ | | | | 1
 | turuntu | 1 | | 5 007 | | | 1 77.0
 | POPURAL DESIGNATION OF THE PERSON OF T | | | S MAN AND AND AND AND AND AND AND AND AND A | and the same | _ | |
 | | | | |
 | | | | 4 |
| A transmission | | | | |
 | | | | | | - | |
 | | | | | | |
 | | | | *** | |
 | | | | | |
 | | **** | | |
| | | | | - |
 | | - | | | - | | |
 | | | | *** | | | **
 | | | | | | | |
 | | | | - | - |
 | | | | # |
| A Married No. Section 2015 | | | _ | |
 | | - 1 | | | | | |
 | | | - | - | _ | _ |
 | | | | 10.00 | |
 | - | | | | 100 |
 | | 11 E | | = |
| Marinjogagen | STATUS NEWS | | | 5 1000 |
 | | | | | | 1.5 905/4.00 | | 1 100
 | | | | *** | | | 6 0146
 | | | | S 11.00 PROPERTY. | Figureia | | |
 | | | | | *** |
 | | 40.60 | | |
| V SOURCE CONTRACT | | | | 61 ES |
 | | - | | | | | |
 | | | | | | |
 | | | | NO 80 | |
 | | | | | |
 | | 10.00 | | _ |
| B SUPERING PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE | | | _ | | | | -
 | | # | | | | - | 1
 | | | 00 | == | | - |
 | | | | | |
 | | | | | |
 | 00 | | |
| The state of the s | | | | | | | -
 | | + | | | | | -
 | | | - | | + | |
 | | | == | _ | + | 100
 | | | | | |
 | | \rightarrow | - |
| S ALPEANAGE COMMITTEE COMM | 500 Miles
500 Miles
500 Miles | | | *** | | | ***
 | | | | 1.00 | | | |
 | | | 4140 | | | |
 | | | 10 E0 | | |
 | | | | *** | |
 | 10 E0 | | |
| * 1000 000 000
* 1000 000 000 | STANDARD WES | \vdash | #= | - |
 | H | - | | ≠≡ | 1 | W | |
 | +== | $+\Box$ | L | | _= | #= |
 | = | | | | #= |
#= | - | | | | |
 | += | 0100
0100 | _= | += | | | |
| W Systematic leads space rating around | NAME OF THE PARTY | | | | | |
 | - | | | 100 | | |
 | | | | | | |
 | | | | | |
 | | | | | |
 | 270 | | = |
| | | - | - | - |
 | | - | - | + | | | | - 00
 | - | + | | - | _ | + |
 | | | | | |
_ | | | | | - |
 | _ | - | = | + | | | |
| * MANAGEMENT STATES | onumer s | | | - |
 | | | 4 | | | * | |
 | | | | * | | |
 | | | | no service of the ser | er mener
er | | ,
 | 1 | | | 4 | | 1
 | | | | | | | |
| | • | | | |
 | | | | | | | |
 | | | | | | |
 | | | | • | |
 | | | | | | •
 | | | | |

PROPOSAL RESULTS

RFP2019-04 ACTUARIAL SERVICES FOR THE MERCER COUNTY INSURANCE COMMISSION

NOVEMBER 15,2019

			NOVEMBER 15,2019						
NO. OF RESPONDENTS:	7								
NAME OF RESPONDENT	ACTUARIAL & TECHNICAL SOLUTIONS, INC.	HUGGINS ACTURIAL SERVICES INC.	SQ RISK LLC	AMI RISK CONSULTANTS INC.	THE ACTUARIAL ADVANTAGE, INC.	PINNACLE ACTUARIAL RESOURCES INC.	LEWIS& ELLIS ACTUARIES AND CONSULTANTS		
ADDRESS	3900 VETERAN MEMORIAL HIGHWAY SUITE 300	111 VETERANS SQUARE	1050 WALL STREET WEST	1336 SW 146TH CT	111 VETERANS SQUARE, FIRST FLOOR	3109 CORNELIUS DRIVE	11225 COLLGE BLVD, SUITE 320		
CITY, STATE, ZIP	BOHEMIA, NY 11716	MEDIA , PA 19063	LYNDHURST, NJ 07071	MIAMI, FL 33784	MEDIA , PA 19063	BLOOMINGTON, IL 61704	OVERLAND PARK, KS 66210		
CONTACT	DAVID K. RAIKOWSKI	TODD DASHOFF	BENJAMIN S. NEWVILLE	AGUEDO M. INGCO	ERIC G. BAUSE	DEREK W. FREIHAUT	KATHRYN KOCH		
TELEPHONE	631-471-8655	610-892-1826	201-935-3434	305-273-1589	610-627-0704	309-807-2300	913-766-9127		
FAX	631-471-9404	610-892-1827	201-936-3618	702-359-0926		309-807-2301	913-491-3388		
E-MAIL	DRAIKOWSKI@ACTURIALSOLUTIONS.COM	TODD.DASHOFF@HUGGINSACTURIAL.COM	NEWVILLE@SGRISK.COM	BOBINGOCO@AMIRISK.COM	EBAUSE@TAA-INC.COM	DFREIHAUT@PINNACLEACTUARIES.CO M	KKOCH@LEWISELLIS.COM		
INSURANCE INDEMNIFICATION PAGE	REQUIRED IF AWARDED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
ADDENDUM NO ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
ADDENDUM NO TWO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
ADDENDUM NO THREE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
STATEMENT OF OWNERSHIP DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED/MUST CHECK YES OR NO	SIGNED AND DATED	SIGNED AND DATED		
BUSINESS REGISTRATION CERTIFICATE	OK	OK	REQUIRED IF AWARDED	OK	OK OK R		OK		
EIC	REQUIRED IF AWARDED	45386 EXPIRES 8.15.24	REQUIRED IF AWARDED	REQUIRED IF AWARDED	31156 EXPIRES 8.15.22	REQUIRED IF AWARDED	56634 EXPIRES 10.15.22		
EXHIBIT A	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	INCLUDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED		
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED/WILL HAVE TO CHECK YES OR NO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
CERTIFICATION OF POLITICAL CONTRIBUTIONS	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED		
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	DID NOT INCLUDE		
CONTINUITY OF OPERATIONS	YES	YES	YES	YES	YES	YES	YES		
REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
FATAL FLAW	NONE	NONE	NONE	NONE	NONE	NONE	NONE		
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE	NONE		
QUALIFICATION STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED		
COST FOR SERVICES YEAR ONE	\$ 7,500.00	\$ 7,500.00	\$ 13,500.00	\$ 7,300.00	\$ 7,959.00	\$ 8,500.00	\$ 7,500.00		
COST FOR SERVICES YEAR TWO (OPTION)	\$ 7,000.00	\$ 7,500.00	\$ 13,500.00	\$ 7,300.00	\$ 8,118.00	\$ 8,500.00	\$ 7,500.00		
COST FOR SERVICES YEAR THREE (OPTION)	\$ 7,000.00	\$ 7,500.00	\$ 13,500.00	\$ 7,300.00	\$ 8,280.00	\$ 8,500.00	\$ 7,500.00		